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DID NOT FINISH [2nd RUN] 0
2025-01-04 / FEAH A ¥ —35 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



TR ) —R— N A LF v L2025

T 7k

JERE A5=b -b B 1AH  2AKH & ik VF:X
No No KA R A (5 T A I iR AV
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START ~ [2nd RUN] 0
g T SCE CBTIE ] 17/240/17
2025-01-04 / HKEHA *—5 G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



TR ) —R—=FZ A LF ¥ L 22025

—KB LV 7k PNELR
vall— T =T —H
iz g e EB:p~1 a—24
N HEMAY-4  K3a-2
F5k KH R EB:p~1 Y 258m
T 4= a s 138m
MEEER TR ez EB:p~1 o0 120m
1AH - 2 AR .
a— Rty Z— ik = [HriE ] a— 2ty X — ik = [HriE ]
ISR - A - g e ISR - A - g e
TP % 21(20) 2K — R 13:25 A% 21(20) A — R 13:50
KA E =8 V7 k KA E 4 AZAN
AF—bF/T 4=y a R -0.5°C / +-0.0C AB—bF/T 4=y a R -0.5°C / +-0.0C
F:
NEAE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 R W M Héf ] A1 b
1 95 922765 +H (E— 74 RR—A 45.39 43.84 1:29.23
2 96 888765 EZAT —= JITE A —1 49.62  49.09 1:38.71
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DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
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